
MATH 5: CLASSWORK 17, 
February 9, 2020 

 

  
 

Triangle properties: 

1. Sum of interior angles of a triangle is 180°. 
(∀ ∆ ABC, ∠ ABC +∠ BCA+∠ BAC =  180°) New symbol ∀ - for any out there. 

2. In any triangle the sum of 2 sides is always grater then the third. 
(∀ ∆ ABC, AB+BC > AC) 

3. In any triangle,  
• the largest interior angle is opposite the largest side.  
• the smallest interior angle is opposite the smallest side 
• the middle-sized interior angle is opposite the middle-sized side  

 
 

 

 

 

  

∠ 1 = ∠ 2 = ∠ 3 + ∠ A  

Because 

 ∠ 3 + ∠ A + ∠AXB  =180 

∠ B = ∠ 1 + ∠ 3 = ∠ A + ∠ 3 + ∠ 3  

  

 
AD-Median  
 

AE- Altitude 
 

AF- Angle Bisector 
 



 

MATH5: HOMEWORK 17, 
February 9, 2020 

 

Write and draw on this page. Attach this page to your homework  

1. For the given triangles make the correct fit of angles and sides. The figures are not to scale, so 
don’t try measuring angles with the protractor. 

    

 

 

2. The triangles with such measurements do not exist. Describe what is wrong with them: 
 

  
 
 
 

  

15cm, 10cm, 8cm 

 44°, 70°, ?  

 35°, 65°, ? 

a) 

b) 

c) 

a) b) c) 

http://www.google.com/imgres?start=90&um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=st550XBcSOPysM:&imgrefurl=http://thexorb.com/Algebra/Triangle/Triangle.aspx&docid=G02PYcRiQ68S4M&imgurl=http://farm6.static.flickr.com/5086/5230258444_b82b074ce3_m.jpg&w=240&h=208&ei=NL0vUY7zDYL40gG994CQCA&zoom=1&iact=hc&vpx=699&vpy=140&dur=5607&hovh=166&hovw=192&tx=70&ty=95&sig=104262450623425410236&page=5&tbnh=129&tbnw=156&ndsp=24&ved=1t:429,r:6,s:100,i:22
http://www.google.com/imgres?um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=VUV8nylqVhVXpM:&imgrefurl=http://www.education.com/study-help/article/triangle-word-problems/&docid=PmZM-6LnYY6w9M&imgurl=http://01.edu-cdn.com/files/static/learningexpressllc/9781576856918/TRIANGLE_WORD_PROBLEMS_06.GIF&w=369&h=164&ei=z7wvUaX-PObq0AGDjYCYCA&zoom=1&iact=hc&vpx=776&vpy=331&dur=2640&hovh=131&hovw=295&tx=107&ty=84&sig=104262450623425410236&page=3&tbnh=120&tbnw=270&start=41&ndsp=25&ved=1t:429,r:58,s:0,i:291
http://www.google.com/imgres?um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=yfYM0Aw3n1lXSM:&imgrefurl=http://hotmath.com/hotmath_help/topics/scalene-triangle.html&docid=yWxgXG7BHfjbCM&imgurl=http://hotmath.com/hotmath_help/topics/scalene-triangle/scalene-triangle-image003.gif&w=200&h=150&ei=z7wvUaX-PObq0AGDjYCYCA&zoom=1&iact=hc&vpx=785&vpy=171&dur=1359&hovh=120&hovw=160&tx=83&ty=67&sig=104262450623425410236&page=2&tbnh=120&tbnw=152&start=17&ndsp=24&ved=1t:429,r:33,s:0,i:216


3. Using a ruler with no marks and a compass construct  
a. perpendicular line to a given line through a point on this line 

 

 

 

 

b. perpendicular line through a point outside of a line  

 

 

 

 

 
4. Find area of the below figures: 

    

 
5. Replace stars by digits in the number 21*53* to make it divisible by 45 [hint: remember divisibility rule by 9?]. 
6. Name the angles and prove that RED = GREEN + BLUE.  You may or may not need additional 

constructions.  

 
7. On a separate piece of paper prepare the problem on operations with powers. We will mix all in hat and randomly draw.  

Example  
66

22 ∙ 33 = 2?  ∙  3? 

a 

X 

a 
X 

(d) 

 


	AD-Median
	AE- Altitude
	AF- Angle Bisector

